<?xml version="1.0" encoding="UTF-8" standalone="yes"?>

<xs:schema
xmlns:xs = "http://www.w3.0rg/2001/XMLSchema"
xmlns:sds = "http://sds.dgaiec.min-financas.pt/AirTransportStatus”
xmlns:dt = "http://sds.dgaiec.min-financas.pt/AirTransportDataTypes"”
targetNamespace = "http://sds.dgaiec.min-financas.pt/AirTransportStatus"”

elementFormDefault = "qualified">
<xs:import namespace = "http://sds.dgaiec.min-financas.pt/AirTransportDataTypes"
schemalLocation = "AirTransportDataTypes.xsd"/>
<xs:element name = "AirTransportStatus" type = "sds:AirTransportStatus"/>
<xs:complexType name = "AirTransportStatus">
<Xs:sequence>
<xs:element name = "MessageInformation" type = "sds:MessageInformation"/>
<xs:element name = "MessageCorrelationInformation” type =
"sds:MessageCorrelationInformation” minOccurs = "0"/>
<xs:element name = "CustomsProcess" type = "sds:CustomsProcess"/>

<xs:element name
minOccurs = "@"/>
<xs:element name
<xs:element name
</Xs:sequence>
</xs:complexType>
<xs:complexType name = "MessageInformation">
<XSs:sequence>
<xs:element name
<xs:element name

"FlightIdentification" type = "sds:FlightIdentification"

"Errors" type = "sds:Errors" minOccurs = "0"/>
"Warnings" type = "sds:Warnings" minOccurs = "0"/>

"MessageIdentification” type = "dt:an..35"/>
"MessageDate" type = "dt:fullDate"/>

<xs:element name = "MessageReceiver" type = "dt:IdentificationNumber"/>
</Xs:sequence>
</xs:complexType>
<xs:complexType name = "MessageCorrelationInformation”>
<Xs:sequence>
<xs:element name = "MessageCorrelationIdentification” type = "dt:an..35"
minOccurs = "90"/>
<xs:element name = "MessageCorrelationDate" type = "dt:fullDate"” minOccurs =
"0"/>
<xs:element name = "MessageCorrelationValid" type = "dt:clYesNoPending"/>

</Xs:sequence>

</xs:complexType>

<xs:complexType name = "CustomsProcess">
<Xs:sequence>

<xs:element name = "CustomsReferenceNumber" type = "dt:n4..14" minOccurs =
"0"/>
<xs:element name = "CustomsProcessState" type = "dt:clCustomsProcessState"
minOccurs = "9"/>
</Xs:sequence>
</xs:complexType>
<xs:complexType name = "FlightIdentification">
<Xs:sequence>
<xs:element name = "TransportIdentification” type = "dt:an..35" minOccurs =
"0"/>
<xs:element name = "ScheduledDateOfArrival"” type = "dt:fullDate" minOccurs =
"9/
<xs:element name = "ScheduledDateOfDeparture"” type = "dt:fullDate" minOccurs =
"0"/>

<xs:element name = "AirportCode" type = "dt:a5" minOccurs = "9"/>



</Xs:sequence>
</xs:complexType>

<xs:complexType name = "Errors">
<Xs:sequence>
<xs:element name = "Error" type = "sds:Error" maxOccurs = "9999"/>

</Xs:sequence>
</xs:complexType>
<xs:complexType name = "Error">
<Xs:sequence>
<xs:element name "RuleCode” type = "dt:an..35"/>
<xs:element name = "ErrorCode" type = "dt:n4"/>
<xs:element name = "ErrorDescription" type = "dt:an..250"/>
</Xs:sequence>
</xs:complexType>

<xs:complexType name = "Warnings">
<Xs:sequence>
<xs:element name = "Warning" type = "sds:Warning" maxOccurs = "9999"/>

</Xs:sequence>
</xs:complexType>
<xs:complexType name = "Warning">
<Xs:sequence>
<xs:element name
<xs:element name
<xs:element name
</Xs:sequence>
</xs:complexType>

"RuleCode" type = "dt:an..35"/>
"WarningCode" type = "dt:n4"/>
"WarningDescription” type = "dt:an..250"/>

</xs:schema>



